

JOHANNESBURG STOCK EXCHANGE Currency Derivatives

Currency Futures & Options Matched Trades

Report for 06/12/2013

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:18:00	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4650		(523,250.00) Member	Sell
8:21:55	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6900		(1,069,000.00) Client	Sell
8:21:55	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6900		1,069,000.00 Member	Buy
8:21:55	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.8140		1,081,400.00 Member	Buy
8:21:55	\$ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.8140		(1,081,400.00) Client	Sell
8:24:19	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.5144		3,154,320.00 Member	Buy
8:24:19	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	300	300,000	10.5144		(3,154,320.00) Client	Sell
8:48:03	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4650		523,250.00 Client	Buy
9:09:36	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4541		1,045,410.00 Client	Buy
9:09:36	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4541		(1,045,410.00) Member	Sell
9:10:22	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5866		105,866.00 Member	Buy
9:10:22	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5866		(105,866.00) Client	Sell
9:13:19	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	24	24,000	10.4401		250,562.40 Member	Buy
9:13:19	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	24	24,000	10.4401		(250,562.40) Client	Sell
9:13:21	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4395		10,439.50 Member	Buy
9:13:21	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4395		(10,439.50) Client	Sell
9:17:14	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4538		(261,345.00) Member	Sell
9:17:14	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4538		261,345.00 Client	Buy
9:21:16	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.4432		(835,456.00) Member	Sell
9:21:16	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.4432		835,456.00 Client	Buy
9:22:33	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.4414		104,414.00 Member	Buy
9:22:33	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.4414		(104,414.00) Client	Sell
9:33:57	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	10.6013		31,803.90 Member	Buy
9:33:57	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	10.6013		(31,803.90) Client	Sell
9:35:46	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	140	140,000	10.6039		1,484,546.00 Member	Buy
9:35:46	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	140	140,000	10.6039		(1,484,546.00) Client	Sell
9:37:26	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.6037		10,603.70 Member	Buy
9:37:26	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.6037		(10,603.70) Client	Sell
9:38:29	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.6100		(42,440.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,	
9:38:29	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.6100		42,440.00 Client	Buy
9:45:42	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6013		106,013.00 Member	Buy
9:45:42	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6013		(106,013.00) Client	Sell
9:48:49	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6138		(106,138.00) Member	Sell
9:48:49	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6138		106,138.00 Client	Buy
9:48:53	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.4661		(2,093,220.00) Member	Sell
9:48:53	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.4661		2,093,220.00 Client	Buy
9:57:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.6220		53,110.00 Client	Buy
10:06:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4673		1,046,730.00 Member	Buy
10:06:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4673		(1,046,730.00) Client	Sell
10:10:24	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.6320		53,160.00 Member	Buy
10:16:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6385		(106,385.00) Member	Sell
10:16:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6385		106,385.00 Client	Buy
10:23:14	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.4999		209,998.00 Member	Buy
10:23:14	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.4999		(209,998.00) Client	Sell
10:24:24	\$ / R 15/09/2014	Foreign Exchange Future	Р	10.23	1	1,000	23,934	23,934,000	263.0492		(6,295,819,552.80) Member	Sell
10:24:24	\$ / R 15/09/2014	Foreign Exchange Future	С	12.35	1	1,000	23,934	23,934,000	265.1964		6,347,210,637.60 Member	Buy
10:24:24	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.88	1	1,000	23,934	23,934,000	23.8222		570,160,534.80 Member	Buy
10:24:28	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.5005		262,512.50 Member	Buy
10:24:35	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.5005		525,025.00 Member	Buy
10:24:35	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.5005		(525,025.00) Client	Sell
10:27:24	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4938		1,049,380.00 Member	Buy
10:27:24	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4938		(1,049,380.00) Client	Sell
10:39:36	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.6438		(212,876.00) Member	Sell
10:39:54	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.6438		212,876.00 Client	Buy
10:48:43	\$ / R 15/09/2014	Foreign Exchange Future	С	12.39	1	1,000	2,870	2,870,000	262.2495		752,656,065.00 Member	Buy
10:48:43	\$ / R 15/09/2014	Foreign Exchange Future	Р	10.19	1	1,000	2,870	2,870,000	255.4879		(733,250,273.00) Member	Sell
10:48:43	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.88	1	1,000	2,870	2,870,000	23.5731		67,654,797.00 Member	Buy
10:54:03	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.4827		(482,204.20) Client	Sell
10:54:03	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.4827		482,204.20 Member	Buy
11:11:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.6374		(425,496.00) Client	Sell
11:11:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	40	40,000	10.6374		425,496.00 Member	Buy
11:20:27	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5086		10,508.60 Member	Buy
1:20:27	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5086		(10,508.60) Member	Sell
1:21:36	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	28,000	28,000,000	10.5086		(294,240,800.00) Member	Sell
1:21:36	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	28,000	28,000,000	10.6551		298,342,800.00 Member	Buy
1:23:32	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	171	171,000	10.6551		1,822,022.10 Member	Buy
11:23:32	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	171	171,000	10.5086		(1,796,970.60) Member	Sell
11:24:04	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	474	474,000	10.6551		5,050,517.40 Member	Buy
11:24:30	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	474	474,000	10.6551		(5,050,517.40) Client	Sell
11:24:44	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	171	171,000	10.6551		(1,822,022.10) Client	Sell
11:24:57	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	171	171,000	10.5086		1,796,970.60 Client	Buy
11.27.37	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	28,000	28,000,000	10.5080		(298,342,800.00) Client	Sell

Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Prem Rate	ium Value Trade Type	Buy/ Sell
11:25:30	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	28,000	28,000,000	10.5086	204 /	240,800.00 Client	Buy
12:08:30	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	20,000 45	45,000	10.3080		71,955.50 Member	Buy
12:08:30	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	45 45	45,000	10.4879		71,955.50 Member	Sell
12:37:26	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	43	43,000	10.4079		i00,432.50) Member	Sell
12:37:26	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	47	47,000	10.6475		500,432.50 Client	Buy
12:43:00	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	47	1,000	10.4901			Sell
12:43:00	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.4901		(10,490.10) Member 10,490.10 Client	Buy
12:45:00				0.00	1	1,000	100		10.4901	1 (10,490.10 Client 063,350.00 Member	
	\$ / R 17/03/2014 \$ / R 17/03/2014	Foreign Exchange Future			1			100,000				Buy
12:46:42	\$ / R 17/03/2014	Foreign Exchange Future		0.00	-	1,000	100	100,000	10.6335	-	63,350.00) Client	Sell
13:01:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	47	47,000	10.6339	-	99,793.30) Member	Sell
13:01:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	47	47,000	10.6339		199,793.30 Client	Buy
13:08:47	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	2,955	2,955,000	10.4937		08,883.50 Member	Buy
13:08:55	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4884		244,200.00 Member	Buy
13:10:44	\$ / R 13/12/2013	Foreign Exchange Future	_	0.00	1	1,000	500	500,000	10.4892		244,600.00 Member	Buy
13:42:05	\$ / R 15/09/2014	Foreign Exchange Future	Р	10.21	1	1,000	15,296	15,296,000	264.8108		45,996.80) Member	Sell
13:42:05	\$ / R 15/09/2014	Foreign Exchange Future	С	12.44	1	1,000	15,296	15,296,000	265.7902		26,899.20 Member	Buy
13:42:05	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.90	1	1,000	15,296	15,296,000	26.6001	406,8	375,129.60 Member	Buy
13:54:04	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	8,000	8,000,000	10.6330	(85,0	64,000.00) Client	Sell
13:54:04	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	8,000	8,000,000	10.6330	85,0	064,000.00 Member	Buy
14:00:53	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,020	4,020,000	10.4841	42,7	46,082.00 Member	Buy
14:00:53	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	10.4841	(41,9	36,400.00) Member	Sell
14:15:12	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	45	45,000	10.4635	4	70,857.50 Member	Buy
14:29:34	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6139		06,139.00 Member	Buy
14:30:26	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.6139	(*	06,139.00) Client	Sell
14:53:18	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4765	:	261,912.50 Member	Buy
14:53:18	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4765	(2	e1,912.50) Client	Sell
15:03:47	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	11,059	11,059,000	10.6250	117,	01,875.00 Member	Buy
15:06:45	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4818	(2	62,045.00) Member	Sell
15:06:51	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.4819	(2	262,047.50) Member	Sell
15:08:53	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.4819	ł	524,095.00 Client	Buy
15:17:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	10.6298	-	744,086.00 Member	Buy
15:17:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	10.6298	(7	'44,086.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	93	93,000	10.6250	(9	88,125.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	80	80,000	10.6250		50,000.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.6250		88,750.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	178	178,000	10.6250		91,250.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	93	93,000	10.6250		88,125.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	33	33,000	10.6250		50,625.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	46	46,000	10.6250	-	88,750.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	63	63,000	10.6250		69,375.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	241	241,000	10.6250	-	60,625.00) Client	Sell
					1			58,000	10.6250		616,250.00) Client	Sell
15:20:43	\$ / R 17/03/2014 \$ / R 17/03/2014	Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1	1,000 1,000	58 51	58,000	10.6250	-	616,250.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	82	82,000	10.6250		(871,250.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	177	177,000	10.6250		(1,880,625.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	806	806,000	10.6250		(8,563,750.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	303	303,000	10.6250		(3,219,375.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	640	640,000	10.6250		(6,800,000.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	4,292	4,292,000	10.6250		(45,602,500.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	98	98,000	10.6250		(1,041,250.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	380	380,000	10.6250		(4,037,500.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	233	233,000	10.6250		(2,475,625.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	396	396,000	10.6250		(4,207,500.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2,240	2,240,000	10.6250		(23,800,000.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	126	126,000	10.6250		(1,338,750.00) Client	Sell
15:20:43	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6250		(1,062,500.00) Client	Sell
15:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	32	32,000	10.6250		(340,000.00) Client	Sell
15:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	19	19,000	10.6250		(201,875.00) Client	Sell
15:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	27	27,000	10.6250		(286,875.00) Client	Sell
15:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.6250		(318,750.00) Client	Sell
5:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.6250		(318,750.00) Client	Sell
5:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	27	27,000	10.6250		(286,875.00) Client	Sell
5:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	21	21,000	10.6250		(223,125.00) Client	Sell
5:20:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	18	18,000	10.6250		(191,250.00) Client	Sell
5:30:35	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6520		106,520.00 Member	Buy
5:30:37	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5100		1,051,000.00 Member	Buy
5:30:37	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5100		(1,051,000.00) Client	Sell
				1							
15:31:06	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6476		(106,476.00) Client	Sell
5:31:47	\$ / R 13/12/2013	Foreign Exchange Future	0.00	-	1,000	13	13,000	10.5198		(136,757.40) Member	Sell
15:31:47	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	13	13,000	10.5198		136,757.40 Client	Buy
5:32:39	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.5200		210,400.00 Member	Buy
5:32:39	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.5200		(210,400.00) Client	Sell
5:33:05	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	9	9,000	10.5259		94,733.10 Member	Buy
5:33:05	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	9	9,000	10.5259		(94,733.10) Client	Sell
5:33:12	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5300		1,053,000.00 Member	Buy
5:33:12	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.5300		(1,053,000.00) Client	Sell
5:34:00	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6926		(106,926.00) Client	Sell
5:34:00	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6926		106,926.00 Member	Buy
5:34:31	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6476		106,476.00 Client	Buy
5:34:35	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	11,025	11,025,000	10.6580		117,504,450.00 Member	Buy
5:34:53	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.7200		(53,600.00) Client	Sell
5:34:53	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.7200		53,600.00 Member	Buy
5:35:00	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.7206		536,030.00 Member	Buy
5:35:00	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.7206		(536,030.00) Client	Sell
5:35:15	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.5501		(791,257.50) Client	Sell
5:35:47	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.7003		5,350,150.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					14.00					.160	
15:37:04	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5634		(52,817.00) Member	Sell
15:37:04	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.5634		52,817.00 Client	Buy
15:38:44	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.5750		528,750.00 Client	Buy
15:39:18	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.6648		(2,132,960.00) Client	Sell
15:39:18	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.6648		2,132,960.00 Member	Buy
15:43:38	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	8	8,000	10.5284		(84,227.20) Member	Sell
15:43:38	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	8	8,000	10.5284		84,227.20 Client	Buy
15:48:25	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4900		(262,250.00) Member	Sell
15:51:46	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6221		(106,221.00) Member	Sell
15:52:05	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.6221		106,221.00 Client	Buy
15:52:35	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4650		(261,625.00) Member	Sell
15:52:51	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6050		(1,060,500.00) Member	Sell
15:52:51	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.6050		1,060,500.00 Client	Buy
15:53:19	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4563		522,815.00 Member	Buy
15:53:39	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4550		522,750.00 Member	Buy
5:53:39	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	10.4550		(522,750.00) Client	Sell
5:54:17	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	10.6050		21,210.00 Member	Buy
5:54:17	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	10.6050		(21,210.00) Client	Sell
5:54:54	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4401		(261,002.50) Member	Sell
5:54:54	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.4650		784,875.00 Client	Buy
5:55:02	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4370		(10,437.00) Client	Sell
5:55:02	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.4370		10,437.00 Client	Buy
5:56:00	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	10.4200		(260,500.00) Member	Sell
5:56:00	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.3784		778,380.00 Client	Buy
5:56:29	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	10.5600		(158,400.00) Member	Sell
5:56:29	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	10.5600		158,400.00 Client	Buy
15:57:11	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4125		(1,041,250.00) Member	Sell
5:57:11	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	10.4125		1,041,250.00 Client	Buy
15:57:59	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.3944		(5,197,200.00) Member	Sell
5:57:59	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.3944		5,197,200.00 Member	Buy
5:58:27	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.3803		(41,521.20) Client	Sell
5:58:27	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	4	4,000	10.3803		41,521.20 Member	Buy
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	638	638,000	10.6580		(6,799,804.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	176	176,000	10.6580		(1,875,808.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	302	302,000	10.6580		(3,218,716.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	80	80,000	10.6580		(852,640.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	51	51,000	10.6580		(543,558.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	19	19,000	10.6580		(202,502.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	97	97,000	10.6580		(1,033,826.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	801	801,000	10.6580		(8,537,058.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	29	29,000	10.6580		(309,082.00) Client	Sell
6:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	379	379,000	10.6580		(4,039,382.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	47	47,000	10.6580		(1,000,926.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10.00.01		Facility Facility of Facility	0.00	4	1.000	4.000	4 000 000	40.0500			0
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	4,280	4,280,000	10.6580		(45,616,240.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	100	100,000	10.6580		(1,065,800.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	63	63,000	10.6580		(671,454.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	27	27,000	10.6580		(287,766.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	394	394,000	10.6580		(4,199,252.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	240	240,000	10.6580		(2,557,920.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	233	233,000	10.6580		(2,483,314.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	22	22,000	10.6580		(234,476.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	45	45,000	10.6580		(479,610.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	33	33,000	10.6580		(351,714.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.6580		(319,740.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	93	93,000	10.6580		(991,194.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2,233	2,233,000	10.6580		(23,799,314.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	33	33,000	10.6580		(351,714.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	26	26,000	10.6580		(277,108.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	177	177,000	10.6580		(1,886,466.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	82	82,000	10.6580		(873,956.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.6580		(213,160.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	57	57,000	10.6580		(607,506.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	93	93,000	10.6580		(991,194.00) Client	Sell
16:00:04	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	125	125,000	10.6580		(1,332,250.00) Client	Sell
16:01:50	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.3800		(10,380.00) Member	Sell
16:01:50	\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.3800		10,380.00 Client	Buy
16:02:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5262		105,262.00 Client	Buy
16:02:44	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5262		(105,262.00) Member	Sell
16:03:09	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	500	500,000	10.7003		(5,350,150.00) Client	Sell
16:04:06	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	500	500,000	10.6753		(5,337,650.00) Client	Sell
16:04:06	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	500	500,000	10.6753		5,337,650.00 Client	Buy
16:04:40	\$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	2,000	2,000,000	10.3892		20,778,400.00 Member	Buy
16:04:40	\$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	2,000	2,000,000	10.3892		(20,778,400.00) Client	Sell
16:05:07	\$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	1,000	1,000,000	10.3892		10,389,200.00 Member	Buy
16:05:07	\$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	1,000	1,000,000	10.3892		(10,389,200.00) Client	Sell
16:05:46	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	100	100,000	10.5300		(1,053,000.00) Member	Sell
16:05:46	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	100	100,000	10.5300		1,053,000.00 Client	Buy
16:08:27	\$ / R 13/12/2013	Foreign Exchange Future								(466,879.50) Client	
16:08:27	\$ / R 13/12/2013	o o	0.00 0.00		1,000	45 45	45,000 45,000	10.3751 10.3751			Sell
16:08:27	\$ / R 13/12/2013 \$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	45 45	45,000	10.3751		466,879.50 Member (467,172.00) Client	Buy Sell
		Foreign Exchange Future			1,000	45 45					
16:10:44	\$ / R 13/12/2013	Foreign Exchange Future	0.00		1,000	45 10	45,000	10.3816		467,172.00 Member	Buy
16:14:32	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	10	10,000	10.5600		(105,600.00) Client	Sell
16:14:32	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	10	10,000	10.5600		105,600.00 Client	Buy
16:15:06	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	200	200,000	10.5687		(2,113,740.00) Member	Sell
16:15:16	\$ / R 17/03/2014	Foreign Exchange Future	0.00		1,000	200	200,000	10.5687		2,113,740.00 Client	Buy
16:15:27	\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.5600		105,600.00 Client	Buy

Гime			Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
					inddoo	Value			11100	Huto	.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
6:15:27	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5600		(105,600.00) Member	Sell
6:15:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	10.5559		(738,913.00) Member	Sell
6:15:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	70	70,000	10.5559		738,913.00 Client	Buy
6:17:52	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5545		52,772.50 Client	Buy
6:17:52	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5545		(52,772.50) Member	Sell
6:20:16	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	9	9,000	10.5450		(94,905.00) Member	Sell
6:20:16	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	9	9,000	10.5450		94,905.00 Client	Buy
6:20:44	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.5350		(158,025.00) Member	Sell
6:20:44	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.5350		158,025.00 Client	Buy
6:23:07	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5570		5,278,500.00 Member	Buy
6:23:07	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5570		10,557,000.00 Member	Buy
6:23:07	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.4115		10,411,500.00 Member	Buy
6:23:07	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4115		5,205,750.00 Member	Buy
6:25:22	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4149		(1,041,490.00) Member	Sell
6:25:22	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4149		1,041,490.00 Client	Buy
6:27:42	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.3959		207,918.00 Member	Buy
6:27:42	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	20	20,000	10.3959		(207,918.00) Client	Sell
6:29:16	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4087		52,043.50 Client	Buy
6:29:16	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.4087		(52,043.50) Member	Sell
6:29:36	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5630		52,815.00 Client	Buy
6:29:36	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5630		(52,815.00) Member	Sell
6:30:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5628		1,056,280.00 Client	Buy
6:30:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5628		(1,056,280.00) Member	Sell
5:34:29	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4115		(5,205,750.00) Client	Sell
5:34:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5570		(5,278,500.00) Client	Sell
5:35:03	\$ / R 15/09/2014	Foreign Exchange Future	С	12.39	1	1,000	270	270,000	84.8463		22,908,501.00 Member	Buy
6:35:03	\$ / R 15/09/2014	Foreign Exchange Future	C	12.39	1	1,000	2,870	2,870,000	245.5600		(704,757,200.00) Client	Sell
6:36:11	\$ / R 15/09/2014	Foreign Exchange Future	P	10.19	1	1,000	270	270,000	347.8818		(93,928,086.00) Member	Sell
6:36:11	\$ / R 15/09/2014	Foreign Exchange Future	P	10.19	1	1,000	2,870	2,870,000	264.1800		758,196,600.00 Client	Buy
5:37:04	\$ / R 15/09/2014	Foreign Exchange Future	P	8.88	1	1,000	2,070	270,000	14.6113		3,945,051.00 Member	Buy
5:37:04 5:37:04	\$ / R 15/09/2014	Foreign Exchange Future	P	8.88	1	1,000	2,870	2,870,000	22.7300		(65,235,100.00) Client	Sell
5:37:13	\$ / R 17/03/2014	Foreign Exchange Future	•	0.00	1	1,000	10	10,000	10.5420		(105,420.00) Member	Sell
6:37:13	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5420		105,420.00 Client	Buy
6:37:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5380		(1,053,800.00) Member	Sell
5:37:15	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5380		1,053,800.00 Client	_
5:38:13	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.3895		(1,038,950.00) Client	Buy Sell
5:38:13	\$ / R 13/12/2013			0.00	1			100,000			1,038,950.00 Member	
6:38:54	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100 500	500,000	10.3895 10.5434			Buy Sell
6:38:54 6:38:54	\$ / R 17/03/2014 \$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500 500	500,000	10.5434		(5,271,700.00) Member	
		Foreign Exchange Future				1,000					5,271,700.00 Client	Buy
6:40:40	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	135	135,000	10.3965		1,403,527.50 Member	Buy
6:40:40	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	135	135,000	10.3965		(1,403,527.50) Client	Sell
6:40:43 6:40:43	\$ / R 13/12/2013 \$ / R 13/12/2013	Foreign Exchange Future Foreign Exchange Future		0.00 0.00	1 1	1,000 1,000	6 6	6,000 6,000	10.3946 10.3946		62,367.60 Member (62,367.60) Client	Buy Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			1 ut		Inddeb	Value		Nomina	11100	Nute	1360	
16:42:45	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.4122		(10,412.20) Member	Sell
16:42:45	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.4122		10,412.20 Client	Buy
16:46:27	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.4115		(10,411,500.00) Client	Sell
16:46:38	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.5570		(10,557,000.00) Client	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	400	400,000	10.5300		(4,212,000.00) Member	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5300		(5,265,000.00) Member	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.5300		(526,500.00) Member	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5300		(52,650.00) Member	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	10.5300		(789,750.00) Member	Sell
6:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	10.5300		(789,750.00) Member	Sell
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.5300		52,650.00 Client	Buy
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	400	400,000	10.5300		4,212,000.00 Client	Buy
6:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.5300		5,265,000.00 Client	Buy
16:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.5300		526,500.00 Client	Buy
6:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	10.5300		789,750.00 Client	Buy
6:47:55	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	75	75,000	10.5300		789,750.00 Client	Buy
6:47:56	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.5250		(31,575.00) Member	Sell
6:47:56	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5250		(2,105,000.00) Member	Sell
6:47:56	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.5250		31,575.00 Client	Buy
6:47:56	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5250		2,105,000.00 Client	Buy
6:48:01	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5200		(1,052,000.00) Member	Sell
6:48:01	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5200		(2,104,000.00) Member	Sell
6:48:01	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5200		1,052,000.00 Client	Buy
6:48:01	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5200		2,104,000.00 Client	Buy
6:48:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6395		(21,279.00) Client	Sell
6:48:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6395		(21,279.00) Client	Sell
6:48:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	12	12,000	10.6395		(127,674.00) Client	Sell
6:48:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6395		(21,279.00) Client	Sell
6:48:20	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.6395		(21,279.00) Client	Sell
6:48:25	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.3700		(51,850.00) Member	Sell
6:48:25	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.3700		51,850.00 Client	Buy
6:48:40	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5200		(105,200.00) Member	Sell
6:49:15	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	42	42,000	10.3683		435,468.60 Member	Buy
6:49:15	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	42	42,000	10.3683		(435,468.60) Client	Sell
6:49:22	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.3809		(103,809.00) Member	Sell
6:49:22	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.3809		103,809.00 Client	Buy
6:50:02	\$ / R 15/09/2014	Foreign Exchange Future	С	12.35	1	1,000	1,934	1,934,000	70.6999		136,733,606.60 Member	Buy
6:50:02	\$ / R 15/09/2014	Foreign Exchange Future	C	12.35	1	1,000	23,934	23,934,000	249.4800		(5,971,054,320.00) Client	Sell
6:50:11	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5200		10,520.00 Client	Buy
6:50:11	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	6	6,000	10.5200		63,120.00 Client	Buy
6:50:11	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5200		10,520.00 Client	Buy
16:50:11	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5200		10,520.00 Client	Buy
16:50:11	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	1	1,000	10.5200		10,520.00 Client	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
											.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
16:50:14	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	25	25,000	10.3650		(259,125.00) Member	Sell
16:50:34	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5080		(1,050,800.00) Member	Sell
16:50:34	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.5080		1,050,800.00 Client	Buy
16:50:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5050		(2,101,000.00) Member	Sell
16:50:43	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.5050		2,101,000.00 Client	Buy
16:51:25	\$ / R 15/09/2014	Foreign Exchange Future	Р	10.23	1	1,000	1,934	1,934,000	400.6734		(774,902,355.60) Member	Sell
16:51:25	\$ / R 15/09/2014	Foreign Exchange Future	Р	10.23	1	1,000	23,934	23,934,000	274.1700		6,561,984,780.00 Client	Buy
16:51:26	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5048		(105,048.00) Member	Sell
6:51:26	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.5048		105,048.00 Client	Buy
6:51:49	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	6	6,000	10.3501		(62,100.60) Client	Sell
6:52:18	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.88	1	1,000	1,934	1,934,000	34.5616		66,842,134.40 Member	Buy
6:52:18	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.88	1	1,000	23,934	23,934,000	24.6900		(590,930,460.00) Client	Sell
6:53:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.3500		(103,500.00) Member	Sell
16:53:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	19	19,000	10.3501		(196,651.90) Member	Sell
16:53:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.3500		(310,500.00) Member	Sell
6:53:10	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.3500		310,500.00 Client	Buy
6:53:14	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.3498		(3,104,940.00) Member	Sell
6:53:14	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	300	300,000	10.3498		3,104,940.00 Client	Buy
6:53:18	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4930		(1,049,300.00) Member	Sell
6:53:18	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4930		1,049,300.00 Client	Buy
6:55:27	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.3406		5,170,300.00 Member	Buy
6:55:27	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.3406		(5,170,300.00) Member	Sell
6:55:38	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.3505		517,525.00 Member	Buy
6:55:38	\$ / R 13/12/2013	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.3505		(517,525.00) Client	Sell
6:56:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4875		(1,048,750.00) Member	Sell
6:56:45	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.4875		1,048,750.00 Client	Buy
6:57:50	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.6383		(5,319,150.00) Member	Sell
7:04:38	\$ / R 13/06/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.6383		5,319,150.00 Client	Buy
7:05:19	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4840		5,242,000.00 Member	Buy
7:05:19	\$ / R 17/03/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.4840		(5,242,000.00) Member	Sell
7:18:07	\$ / R 15/09/2014	Foreign Exchange Future	С	12.44	1	1,000	15,296	15,296,000	241.6600		(3,696,431,360.00) Client	Sell
7:18:07	\$ / R 15/09/2014	Foreign Exchange Future	C	12.44	1	1,000	1,796	1,796,000	60.2805		108,263,778.00 Member	Buy
7:19:32	\$ / R 15/09/2014	Foreign Exchange Future	P	10.21	1	1,000	1,796	1,796,000	264.8039		(475,587,804.40) Member	Sell
7:19:32	\$ / R 15/09/2014	Foreign Exchange Future	P	10.21	1	1,000	15,296	15,296,000	264.8100		4,050,533,760.00 Client	Buy
7:21:07	\$ / R 15/09/2014	Foreign Exchange Future	P	8.90	1	1,000	15,296	15,296,000	23.1500		(354,102,400.00) Client	Sell
7:21:07	\$ / R 15/09/2014	Foreign Exchange Future	Р	8.90	1	1,000	2,296	2,296,000	3.6155		8,301,188.00 Member	Buy
			-			,						,
otal Futu	Futures				170		109,114	109,114,000			1 154 355 896.35	
otal Opti	Dptions				14		132,550	132,550,000		:	23 867 169 185.40	
otal for \$	for \$ / R Foreign Exchange Future				183		241,664	241,664,000		:	25,021,525,081.75	
9:51:59	\$ / R MAXI 13/12/2013	Foreign Exchange Future		0.00	1	100,000	50	5,000,000	10.4569		(52,284,500.00) Member	Sell
9:51:59	\$ / R MAXI 13/06/2014	Foreign Exchange Future		0.00	1	100,000	50	5,000,000	10.7518		53,759,000.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:59:46	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	50	5,000,000	10.4569		52,284,500.00 Client	Buy
0:00:07	\$ / R MAXI 13/06/2014	Foreign Exchange Future	0.00	1	100,000	50	5,000,000	10.7493		(53,746,500.00) Client	Sell
0:00:07	\$ / R MAXI 13/06/2014	Foreign Exchange Future	0.00	1	100,000	50	5,000,000	10.7493		53,746,500.00 Member	Buy
1:27:27	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.4942		(5,247,100.00) Member	Sell
1:27:27	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.4942		5,247,100.00 Member	Buy
4:37:13	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.4873		5,243,650.00 Member	Buy
4:37:13	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.4873		(5,243,650.00) Member	Sell
5:55:04	\$ / R MAXI 17/03/2014	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.5861		(5,293,050.00) Member	Sell
5:55:04	\$ / R MAXI 17/03/2014	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.5861		5,293,050.00 Member	Buy
5:57:59	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.3954		(5,197,700.00) Member	Sell
5:57:59	\$ / R MAXI 13/12/2013	Foreign Exchange Future	0.00	1	100,000	5	500,000	10.3954		5,197,700.00 Member	Buy
otal Futu	ires			7		145	14,500,000			153 892 000.00	
otal Optio				_							
otal for \$	/ R MAXI Foreign Exch	ange Future				145	14,500,000			153,892,000.00	
9:09:02	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.0380		(3,407,600.00) Client	Sell
0:09:02	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.0380		3,407,600.00 Member	Buy
0:05:56	£/R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.0934		854,670.00 Member	Buy
0:05:56	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.0934		(854,670.00) Client	Sell
0:26:38	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1522		857,610.00 Member	Buy
0:26:38	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1522		(857,610.00) Client	Sell
0:31:25	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.1415		(3,428,300.00) Client	Sell
0:31:25	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	17.1415		3,428,300.00 Member	Buy
1:30:18	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.1716		8,585,800.00 Member	Buy
1:30:18	£/R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.1716		(8,585,800.00) Member	Sell
1:30:32	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.4030		8,701,500.00 Member	Buy
1:30:32	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	17.4030		(8,701,500.00) Member	Sell
2:23:40	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.1790		17,179.00 Client	Buy
2:23:40	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.1790		(17,179.00) Client	Sell
2:27:15	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.1790		(85,895.00) Member	Sell
2:27:15	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	17.1790		85,895.00 Client	Buy
5:08:29	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.1300		428,250.00 Member	Buy
5:09:11	£/R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.1300		(428,250.00) Client	Sell
5:34:03	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.2384		(430,960.00) Member	Sell
5:37:47	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	400	400,000	17.1915		6,876,600.00 Client	Buy
5:37:47	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	400	400,000	17.1915		(6,876,600.00) Member	Sell
5:40:44	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	17.2384		430,960.00 Client	Buy
5:47:20	£ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.4120		(1,741,200.00) Client	Sell
5:47:20	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.4120		1,741,200.00 Member	Buy
5:54:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.0700		(17,070.00) Member	Sell
5:54:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.0680		(1,706,800.00) Member	Sell
	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.0680		1,706,800.00 Client	Buy

latched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
5:54:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.0700		17,070.00 Client	Buy
5:56:00	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.0250		(17,025.00) Member	Sell
5:56:00	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	17.0250		17,025.00 Client	Buy
5:58:31	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.9800		(16,980.00) Member	Sell
5:58:31	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.9800		16,980.00 Client	Buy
6:01:12	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.0094		(170,094.00) Member	Sell
6:05:30	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	10	10,000	17.0094		170,094.00 Client	Buy
6:11:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	300	300,000	16.9955		5,098,650.00 Client	Buy
6:11:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.9657		(3,393,140.00) Member	Sell
6:11:41	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	300	300,000	16.9955		(5,098,650.00) Member	Sell
6:13:03	£ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		(859,500.00) Member	Sell
5:13:03	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		859,500.00 Client	Buy
6:13:03	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		859,500.00 Client	Buy
6:13:03	£ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		(859,500.00) Member	Sell
6:17:34	£ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		(859,500.00) Client	Sell
6:17:34	£/R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	17.1900		859,500.00 Member	Buy
6:22:54	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.9780		3,395,600.00 Client	Buy
:22:54	£/R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	200	200,000	16.9780		(3,395,600.00) Member	Sell
6:48:01	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	16.9800		(424,500.00) Member	Sell
6:48:01	£/R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	16.9800		424,500.00 Client	Buy
53:10	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.9400		(16,940.00) Member	Sell
6:53:10	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	16.9400		16,940.00 Client	Buy
6:53:29	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9304		(1,693,040.00) Member	Sell
6:55:37	£ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.3781		1,737,810.00 Member	Buy
6:55:37	£ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	17.3781		(1,737,810.00) Member	Sell
6:56:12	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9342		(1,693,420.00) Member	Sell
6:57:59	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9424		(1,694,240.00) Member	Sell
6:57:59	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9424		1,694,240.00 Client	Buy
6:58:13	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9462		1,694,620.00 Client	Buy
6:58:13	£ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	100	100,000	16.9462		(1,694,620.00) Member	Sell
otal Futu	res			29		3,345	3,345,000			57 374 193.00	
otal Optio	ons										
otal for £	/ R Foreign Exchang	e Future		29		3,345	3,345,000			57,374,193.00	
:54:31	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.5150		(72,575.00) Member	Sell
:54:31	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.5150		72,575.00 Client	Buy
0:37:23	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	6	6,000	14.3230		85,938.00 Member	Buy
0:37:23	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	6	6,000	14.3230		(85,938.00) Client	Sell
1:29:51	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.5532		7,276,600.00 Member	Buy
:29:51	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.3512		7,175,600.00 Member	Buy
:29:51	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.3512		(7,175,600.00) Member	Sell
			0.00		1,000	000	200,000			(.,	001

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:30:32	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.7646		1,476,460.00 Member	Buy
11:30:32	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.7646		(1,476,460.00) Member	Sell
11:32:23	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.3616		(71,808.00) Member	Sell
11:32:23	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	5	5,000	14.3616		71,808.00 Client	Buy
11:42:06	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	26	26,000	14.5653		(378,697.80) Member	Sell
11:42:06	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	26	26,000	14.5653		378,697.80 Client	Buy
12:27:10	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	13,762	13,762,000	14.5631		200,417,382.20 Member	Buy
12:27:10	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	13,762	13,762,000	14.3616		(197,644,339.20) Member	Sell
12:28:16	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	33	33,000	14.3616		(473,932.80) Member	Sell
12:28:16	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	33	33,000	14.3616		473,932.80 Client	Buy
12:29:32	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	13,762	13,762,000	14.3616		197,644,339.20 Client	Buy
12:29:41	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	13,762	13,762,000	14.5631		(200,417,382.20) Client	Sell
12:43:09	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.3391		(14,339.10) Member	Sell
12:43:09	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.3391		14,339.10 Client	Buy
13:08:14	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.5400		29,080.00 Member	Buy
13:08:14	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	14.5400		(29,080.00) Client	Sell
15:05:54	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.3170		357,925.00 Member	Buy
15:08:45	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.3170		(357,925.00) Client	Sell
15:33:41	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.4032		(360,080.00) Member	Sell
15:40:31	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.4032		360,080.00 Client	Buy
15:47:20	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.5755		(1,457,550.00) Client	Sell
15:47:20	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	14.5755		1,457,550.00 Member	Buy
15:54:45	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.4671		(7,233,550.00) Member	Sell
15:54:45	€ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.4671		7,233,550.00 Member	Buy
15:57:59	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2020		(7,101,000.00) Member	Sell
15:57:59	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2020		7,101,000.00 Member	Buy
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		2,191,140.00 Member	Buy
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.6076		730,380.00 Member	Buy
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		2,191,140.00 Member	Buy
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		2,191,140.00 Member	Buy
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		(2,191,140.00) Member	Sell
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		(2,191,140.00) Member	Sell
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	14.6076		(730,380.00) Member	Sell
16:04:14	€ / R 13/06/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	14.6076		(2,191,140.00) Member	Sell
16:37:13	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2175		(7,108,750.00) Member	Sell
16:37:13	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2175		7,108,750.00 Member	Buy
16:42:51	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.2333		(14,233.30) Member	Sell
16:42:51	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	14.2333		14,233.30 Client	Buy
16:47:31	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.2000		(355,000.00) Member	Sell
16:47:31	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	25	25,000	14.2000		355,000.00 Client	Buy
16:54:14	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	22	22,000	14.1240		310,728.00 Member	Buy
16:54:14	€ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	22	22,000	14.1240		(310,728.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
Total Futu	ires			25		30,900	30,900,000			446 719 368.40	
Total Opti	ons										
Total for € / R Foreign Exchange Future				25		30,900	30,900,000			446,719,368.40	
9:00:04	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	9.4588		9,458.80 Client	Buy
9:00:04	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	1	1,000	9.4588		(9,458.80) Member	Sell
11:27:27	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.4982		(2,374,550.00) Member	Sell
11:27:27	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	250	250,000	9.4982		2,374,550.00 Member	Buy
13:28:36	AU\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.5640		(956,400.00) Client	Sell
13:28:36	AU\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.5640		956,400.00 Member	Buy
15:40:43	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	9	9,000	9.4830		85,347.00 Member	Buy
15:40:43	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	9	9,000	9.4830		(85,347.00) Client	Sell
15:47:20	AU\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.5660		(956,600.00) Client	Sell
15:47:20	AU\$ / R 17/03/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.5660		956,600.00 Member	Buy
15:57:59	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	9.4174		(4,708,700.00) Member	Sell
15:57:59	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	9.4174		4,708,700.00 Member	Buy
16:03:47	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	8	8,000	9.4244		75,395.20 Member	Buy
16:03:47	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	8	8,000	9.4244		(75,395.20) Client	Sell
16:53:40	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	9.3839		(4,691,950.00) Member	Sell
16:53:40	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	500	500,000	9.3839		4,691,950.00 Member	Buy
16:55:32	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	170	170,000	9.3889		1,596,113.00 Member	Buy
16:55:32	AU\$ / R 13/12/2013	Foreign Exchange Future	0.00	1	1,000	170	170,000	9.3889		(1,596,113.00) Member	Sell
Total Futures			9		1,638	1,638,000			15 454 514.00		
Total Opti	ons										
Total for A	AU\$ / R Foreign Excha	nge Future		9		1,638	1,638,000			15,454,514.00	
11:33:41	QUANTO € / \$ 13/12/2	0 Foreign Exchange Future	0.00	1	10,000	5	50,000	1.3642		(68,210.00) Client	Sell
11:33:41	QUANTO € / \$ 17/03/2	0 Foreign Exchange Future	0.00	1	10,000	5	50,000	1.3660		68,300.00 Client	Buy
11:33:41	QUANTO € / \$ 17/03/2	0 Foreign Exchange Future	0.00	1	10,000	5	50,000	1.3660		(68,300.00) Member	Sell
11:33:41	QUANTO € / \$ 13/12/2	0 Foreign Exchange Future	0.00	1	10,000	5	50,000	1.3642		68,210.00 Member	Buy
Total Futu	ires			2		10	100,000			136 510.00	
Total Opti	ons										
Total for QUANTO € / \$ Foreign Exchange Future				2		10	100,000			136,510.00	
Total Futures				241		145,152	159,597,000			1 827 932 481.75	
Total Options			14			132,550	132,550,000	23 867 169 185.40			
Grand Total for all Instruments				254		277,702	292,147,000		2	5,695,101,667.15	